OFFICE OF THE D.F.O. ANANTNAG FOREST DIVISION ANANTNAG

The Conservator of Forests,

Kmr, South Circle,

Bijbehara.

Sub:- Use of forest land for construction of Tourist Facilitation Centre and Security Caban at Daksum

by Tourism Development Authority Kokernag.

Ref:- Pr.Chief Conservator of Forests J&K letter No:PCCF/FCA/1641-43 dt:2-6-2020

In context to the above captioned subject ,it is to submit that the observations raised vide above quoted reference as disposed here under:-

C 11-	Observations	Reply
i.	Two times compensation of trees amounting to Rs:897250/= has been recommended, where as there is no provision under the Forest Conservation Act 1980 for charging compensation of trees likely to be felled. Hence the same may	Two times compensation of trees amounting to Rs:897250/= is removed from Recommendation
ii	be removed from the recommendation. Compensatory afforestration scheme has not been prepared in the instant proposal stating that forest area involved is less than 1 Ha. Whreas as per Section 2.6(i) of MoEF &CC Guidelines, if the forest area proposed for diversion is less than 1 Ha. cost of plantation (including ten years maintenance) of ten times the number of trees likely to be felled shall be charged from the user	The compensatory afforestration scheme has been prepared as desired for an amount of Rs:30094 and project report for extraction charges amounting to Rs:31407/= has been prepared as per rates in vogue in the Department. (Copies enclosed).
ii	agency towards compensatory afforestration. The cost for extraction of trees is also to be included in the cost of compensatory afforestration and to be reflected separately	The reply is in face of para ii.
	Document showing initiation of the process by the District Collector as per clause 6 (e) of the Forest conservation (Rules), 2003 (amended upto August 2017) about process of recognition and vesting of Forest rights in accordance with the provisions of the Scheduled Tribes and Other Traditional Forest Dwellers (Recognition of Forest Rights) Act 2006 (2) of 2007) for the entire forest land indicated in	There is no existence of Scheduled Tribes and other Traditional Forest Dwellers & no violation of said rule has taken place till date.
- 1	the proposal should be enclosed. Sit inspection report of DCF is not found enclosed.	The site inspection report of DFO is enclosed.

The net present value of Forest land involved @ Rs:8.97 Lac per ha. is Rs:179400, Total amount payable from the user agency is Rs:240901/=

Hence submitted for favour of information and arranging of sanction for diversion of Forest land from competent authority under the provisions of Forest Conservation Act 1980 as required under rules.

Early orders are solicited.

Yours faithfully,

DFO; ANANTNAG FOREST DIVISION,

Copy to the Chief Executive Officer Tourism Development Authority Rokernag for information and follow up action.

6 %			under the alig	nment of co	nance) of ten times the num	
1. W	A ART I	Dea		ak up ot require	ement of funds is as under	
S.No.	Year 🦯	No. of trees to be felled	No. of plants to be planted(10 times the No. of trees felled)	Maintenance	Rate/plant	Amount
1	0 th Year	24	240	Nil		11165.00
2	1 th Year	24	240	(@)25%		2791.00
3	2 th Year	24	240	15%	Planting per conifer poly pot @ Rs 29.34 Plant production/Nur.cost per poly pot @ Rs 17.18 TOTAL= Rs. 46.52	1675.00
4	3 th Year	24	240	10%		1117.00
5	4 th Year	24	240	10%		1117.00
6	5 th Year	24	240	10%		1117.00
7	6 th Year	24	240	10%		1117.00
8	7 th Year	24	240	10%		1117.00
9	8 th Year	24	240	10%	ď	1117.00
10	9 th Year	24	240	10%		1117.00
11	10 th Year	24	240	10%		1117.00
			Total		179	24567.00
12	Supervision Charges Ad			nal 17.5% Dep	4299.00	
13	Additional 5% centergencies charges					1228.00
14	Grand Total					30094.00

Prepared by

Counter signed ...

Attested

Range Officer Daksum

Block Forest noofficer
1/CB.O Larnoofficer
Forest Block Larnoof

Forest Division Anantnag

111

PROJECT REPORT FOR DEPARTMENTAL EXTRACTION AND TRANSPORTATION OF TIMBER IN ANANTNAG FOREST DIVISION FOR THE YEAR 2020-21 OF CO. NO. 20b/k BLOCK LARNOO RANGE

1 1/2		DARSON
S. No.	Item	Description
1	Location	Daksum
2	Area of compartment	145 Hec.
3	Nature of work	Extraction/Transportation of Timber
4	Type of Marking	Trees coming under the alignment of construction of Tourist Facilitation centre and security cabin Daksum
5	Marked Volume	1351
6	Expected Outturn	1015

PARAMETRERS OF THE PROJECT

Extraction

1	Average rolling lead (chainage)	<i>i</i> c	Chains		
2	Topography /Terrain	a) 50	b) 29	c) 21	d) 00
3	Chainage as per topography	a) 0	b) 0	c) 0	d) 0
4	Rates as per approved tariff	a) 1.06	b) 0.77	c) 0.55	d) 0.0.25
5	Financial implications involved on a	ccount of rolling	g/dragging	upto KLP (R	s:/Cft/Chain)

5	Financial implications involved on accoun a) 0	b) 0	c) 0	d) 0	Total = 00
S. No	Particulars of Work	Unit	Rate (Rs/Unit)	Quantity Cfts	Amount (Rs.)
1	Felling of green standing trees	1015	2.86	1015	2902.9
2	Delimbing /Debarking conversion and Snouting.	1015	5.71	1015	5795.65
3	Rolling Dragging upto KLP over an average lead of 70 Chains	1015	0	1015	0
4	Loading at KLP	1015	5.15	1015	5227.25
5	Transportation from KLP to PLP over lead of 3 KM @ Rs 3.91/KM	1015	11.73	1015	11905.95
6	Unloading at PLP	1015	0.06	1015	60.9
7	Loading at PLP	1015	5.15	1015	5227.25
8	Total Extraction	1	30.66	1	31119.9
10	Transportation to various depots over an average lead of 40 km @ Rs 0.36/KM/CFT				
11	Un-loading at destination	· A			
12	Enumeration Of trees Rs./tree	24	4	24	96
13	Marking of trees Rs./Tree	24	8	24	192
	%		alle Mr	//	288
	Grand Total Extraction	4	7		31407/=

> Certified that all the precautionary measures have been taken for the safeguard of the regeneration.

> Certified that chainage shown in the rolling/dragging is based on the fact..

Counter Signed By

Forcest Officer

Forcest Officer

DFO Anantnag

Forest Division Anantnag

Range Officer
Forest Range Daksum

Attested By

SITE INSPECTION REPORT OF DCF/DFO

(For the forest land to be diverted under FCA).

- 1. A proposal has been received by this office from Chief Executive Officer Kokernag Development Authority for diversion (Under FCA-1980) of 0.20 Ha of forest land for Non-forestry purpose. The subject envisages the use of Forest land for Construction of Tourist Facilitation Centre and Security Cabin at Daksum. The site inspection of the land involved in teh proposal has been done by us on dated 04-05-2020.
- 2. On inspection of the site, it is found that the land required by the user agency is a forest land measuring 0.20 Ha. (04 Kanals).
- 3. The requirement of forest land by the user agency is un avoidable and is barest minimum required for the project.
- 4. Whether any rare/ endangered / unique species of flora and fauna found in the area so, the details there of = (Not noticed).
- 5. Whether any archaeological / heritage site / defence establishment of any other important monument is located in the area = (Nil).
- 6. The user agency has not violated the provisions of Forest Conservation Act, 1980 and no work has been started without proper sanction.

Signature:

Name: Man Tores Omad Chaket (SFS)

Office Seaf-

Office of the Conservator of Forests Kashmir South Circle

<><>

The Addl Principal Chief Conservator of Forest(FCA) J&K, Srinagar.

No. CFS/2020-21/FCA/ 29-30

Dated:-09/6/2020.

Subject: 116

Use of forest land for construction of Tourist Facilitation entre and Security Cabin at Daksum by Tourism Development Authority

Kokernag.

Ref: Ref:

this office No. CFS/2020-21/FCA/01-02; Dt: 18-05-2020.

your office letter No. PCCF/FCA/1641-43; Dt: 02-06-2020.

Sir,

 $\Diamond \Diamond \Diamond$

In compliance to your above cited letter No on the captioned subject, it is to submit that DFO Anantnag vide his No. 258-59; Dt: 06-06-2020 has cleared the shortcomings/deficiencies as asked for vide your above cited reference. It is pertinent to mentioned that two times compensation of trees stands removed from the proposal. The compensatory afforestation scheme has been prepared and included in the proposal alongwith the cost for extraction of trees reflected separately. Besides site inspection report of DFO concerned is also annexed with the case. With regard to the initiation of the process by the District Collector as per clause 6(e) of the Forest conservation (Rules) 2003 about process of recognition and vesting of Forests rights in accordance with the provisions of the Scheduled Tribes and other Traditional Forest Dwellers (Recognition of Forest Rights) Act 2006; the DFO concerned has reported that there is no existence of Scheduled Tribes and other Traditional Forest Dwellers & no violation of said rule has taken place till date. The brief description of the proposal is re-submitted hereunder:-

Name of the project	Tourist Facilitation centre and Security Cabin at Daksum
Indenting Agency	Chief Executive Officer Kokernag Development Authority
Location	Comptt No. 20/K Range: Daksum. Division: Anantnag Forest Division. Distt: Anantnag.
Total Forest land involved in the project	0.20 На
NPV of 0.20 Hac of Forest land @ Rs 8.97 lac per Hectare	Rs 1,79,400/=
No. of trees/poles to be involved in the proposal	24 Trees/ poles
Compensatory afforestation scheme as per section 2.6(i) of MoEF & CC guidelines	Rs 30094/= (see page No.1)
Cost for extraction of trees	Rs 31407/=(Page No.2)
Inspection report of DCF	Enclosed (Page No.3)
Total Amount Chargeable.	Rs 2,40,901/=

Hence, submitted for favour of information and further necessary action under rules at your end please.

Encl:- Leaves

Yours faithfully,

CONSERVATOR OF ORESTS KASHM SOUTH CIRCLE BIJBEHARA

Copy to DFO Anantnag for information. This is reference to his No quoted above.